Magnescales

BiR~ 7 % X4 — )l / Linear Magnescale

SR-721RD / RM /RN

BHOWEFWZZ, 005 T8 0E T,

ZHEHOFNS, ZOHRSIHE 2 B3 BHia < 72 20,

ZHEAICEEL Tk, ZOHWRESEE B D v 230,

Bl 5 72%1%, BRHBRICV DI LT EVWETOT, BIHREL T Z I,

Read all the instructions in the manual carefully before use and strictly follow them.
Keep the manual for future references.

BV 1R EHFAZE / Instruction Manual



EBRICA BETIC

EHBREBSBELEITOLIFEZEHFIIH A EI &EVET,
TERICDENIC, ZOWNBEELT T EL, FLTKYZRELTTEL,

SR-721RDZ!, SR-721RNE, SR-7T2IRMEIZ IR 27 —JLIEKHE (~v F 7 v 7Y =) H
HoMLHRT—ILEFEIHEAZNTEY, ~v F - 25— EREEBFREEELEICL VS
EEZEEAhTWSEia2-y V' EHOBEBY SRRy —ILTT,

TTOZ72AZy MIERTBIEIZLY, 20—XFL—TONCL AT LEHME Z AR TEET,
SR-721RDZ, SR-T2IRNEI R 7 — L L HKT — 7 L5 8T 58813, BRAREIITHOHLTVWET
DTRT =7 —7ILOCOMBINATION NO.ABIL THSZ & 5 THRO L TER (&L,

B—REEEE

LTREEHBSEEL SEVECEN—HEEEEETTOT, B4«0FHELERLEN
ERE, ARARHAECER SN AESTERVERES I LN L TV IHAFTEICHL,
LOUBEBRBRWEIEEZI-(HBBVLELET,

OIMNET IMER(CII, UHBROBERUREANEEICABL TN X 2BALT
Ao TERT A,

LMD AT —HEL-5E, FEOBELHLT ORI LREHEEMHLT
TERTE WL,

o HIFITRE NI BB THOER L EFREEBE NI OVTII, BEERUIEE
DRAEITHEEZBAOTHEHIET E U,

UM EMEOBEr Babt T ERIIL2HS, SRS, BEEICLY, £
DEER UMEN BRI NE WNERHSH ) 2 TOT, +5IRHNI 2 TEATE L,

BROBET T, CHEHACEIBENEEEE>

@ KBETEZEERT38E. 53V ELBUHRFIBETIMINYESI vy - 95X
T AN—ZEOMIPENTT 35,

O KEELTMEPTBIEEZ S —ILICH D S B VEFRARF I T H &N,

@ WEBICAKBETEIEDNI X FOBEFBALEVL I X —LHS— /T TLEEL,

@ K-z I3 —D&OE. EREEEXE4ESRERHTIRMICERT 3188
@ THMICHA LT AR TL—EE3H (CRC - wmm%)@iﬁéaﬁuL£7°

QFARQOBETIFERBICEZEER. DT LENEELTLAEIL, FhEVESRES

BRIELPDBET,

**Lﬁwﬁ%ﬁﬁbu%éuj%wﬁlﬁz#—wﬁ%&&ﬁ&tbT%EénTuiv
C CHECFEEL,




NOTES TO USERS

Read all instructions carefully before starting use.
Save this MANUAL for future reference.

SR-721RD, SR-721RM, and SR-721RN are linear Magnescale models of semi-unitized construction,
consisting of a scale and a head assembly housed together. The relative position of scale and head is
preadjusted with the aid of a jig for easy and correct installation.

By connecting the SR-721RD/SR-721RM/SR-721RN to a connector, a closed-loop NC system can be
set up.

The scale unit and the head ampilifier & cable unit, if requested together for simultaneous delivery, are
electrically adjusted at factory. They have combination numbers which should tally with each other. Check
them before installation.

General Precautions

When using Magnescales products, observe the following general precautions along with those
given specifically in this manual to ensure proper use of the products.

» Before and during operations, be sure to check that our products function properly.

e Provide adequate safety measures to prevent damages in case our products should develop
malfunction.

o Use outside indicated specifications or purposes and modification of our products will void any
warranty of the functions and performance as specified of our products.

« When using our products in combination with other equipment, the functions and performance as
noted in this manual may not be attained, depending upon operating environmental conditions.
Make full study of the compatability in advance.

B Precautions for use under the following environments

@ When using the scale in the enviroments with water-miscible cutting fluid, cutting fine metal
powder, or when cutting ceramic or glass fiber objects, etc.

® Mount the scale so that it is not directly exposed to water-miscible cutting fluid or cutting chips.

@ Attach a scale cover to prevent water-miscible cutting fluid mist or dust from entering the
inside of the scale.

@ When mounted on a honing machine or other machine that slides at high speed for long
periods within a specific area.
@® Regularly apply oil or spray lubricant.

Be sure to implement the above measures when using the scale under the environments noted
in @ and @ above. Otherwise, quality cannot be assured.

** Qil-injection type scales are available as optional specification products for cases where the
above measures cannot be implemented. Consult you Magnescale Co., Ltd. representative
for details.




H R

:v{iﬁc:fa:%-g‘ﬁ(:....j ................................................................................................. 2
4:% E .................................................................................................................. 6
EEBNBIR
@ SR-72TRDEY X A = Jlo wvorereme ettt ettt ettt ettt ettt sttt e e 7
Xy e =T Y i B e PP 8
] = Ty 1= N i S e PP 9
FERF%
1 B TFERFR -vvvreverrmrrrrmrem s et e e e e e e eaaaeeanaeeeneeenee 10
o RS 7 N I SRR P P PP PRRE: 10
B BN VEETE IERTE ~-vvrvvrvrrrerrermeen ettt ettt ettt e ettt ettt et e et ea e 10
b =TI, TSI G DHRIE +veeerrrerrereeee e ene ettt st 12
5 E’Z,ﬁ-éﬁ% ......................................................................................................... 12
R T T PP 14
7 BEIES (PMIED) DFETR - -revrrrrerrrnr ittt aes 16
8 R —JLAEBIFI L G B IR rorrr st e 16
O FFUH & DR, HJBE L covvvvrrerrrmmrre e 16
ABERIZDOWVT
1, BB EBTREFROIEBEL - r-vrvrerermrmr et it 18
2. E,E‘*ﬁtﬂjj—it ................................................................................................... 20
ey U~ S N VR T PP 24
AR TER
® SR-721RD [ﬁ?)jECBOOmmL:L'F] ........................................................................... 26
[EijJESSOmmL‘,L_t] ........................................................................... 27
® SR-721RM [ﬁi}jESOOmmuT] ........................................................................... 30
[ 2B 350MMULE ] <+ evvvrreeeeeeeemamree e e et 31
@ SR-721RN [ F 3B B00MMULTT J-+vvreeeeresmrmmmmnmemmmmtititae et e e e e e e 34
[T 3 B 3BOMMULE J--eeeeerermereeeee e ettt 35
{i ﬁ .................................................................................................................. 38
,ﬁj—}%éﬂg .................................................................................................................. 38



CONTENTS

NOTES TO USERS ...ttt ettt sas e ss e e e sat et e ese st e e e eseesesssentasnsassansasenseessasassenn 3
FEATURES ...ttt e et en et e s s et et et et e st s s aesaessenesssesneensessasssassansenseneen 6
NAMES OF PARTS
8 SR-72TRD et ettt ee et s et et et e s e s ne s et e s et s es e e b e et e e saeeateenaereenrean 7
@ SR-72TRM Lottt ettt e sttt e e e e s e e aeneeseesseseaseant e seaneenteaannnans 8
@ SR-T2TRN et e ettt e s e e st et e e e te e s e s e s e sensesssessastensaensantensannaasannnans 9
MOUNTING
1) MOUNEING POSIHION .ttt e et et e e savesssa e s s e e eneaeennnseeneeenseenns 11
2) MOUNTING DIFBCHION ...eeeieieeiiee ettt ettt et e e ees et eesaeseeneeeenseeasnnesessneenseeases 11
3) Setting of Scale Travel RANGE ........ccccoeiieeeeereee ettt eveae et srenees s e s s e seesns e saeanannans 11
4) Protection of Cable and CONMECION ... .oiiieieceeeeeeee et et e e e e e e e aae e aeens 13
5) MOUNTING PrEPAIALON ...c.eeeiieeeeee ettt st ee e sae e st ese s s s eesneessaesssennsenssensnassannnans 13
B) MOUMTING .o se et r e s ts et et eete s e e e se e bt e e s e e ensee st e esnsssenteenasseeanssesnsnesaseenes 15
7) Checking the Electric Signal (PM SIGNaI) .....cooieeoeieeeeee et crere e eneaas 17
8) REMOVING the SCAIE ..ottt ettt n st e et eeeeeneenne s 17
9) Connection and Disconnection With DEECIOT ..........ocoviieieeeeeeeeeeeeeeeeeree e 17

BUILT-IN ABSOLUTE ZERO POINT

T N OMIBNICIAIUTE ..o et e e e e e e e e s e e e aa e e e e aaaeaeseaaaaaeaaaasan e e sn e aeaaasasesannnnnneamennan 19
2. ADSOIULE ZEIO POINT DBBCHION ..ot e e e e e e e e e s e e e e e e e e e e e eeeeeeeeeeeaanees 21
CABLING oottt e e e e e e et e e e e e e e e e e e e e et eeaa e e aeeeerasa e et araaana e e e eeeeannne 25
OUTSIDE DIMENSIONS
 SR-721RD (EFFECTIVE LENGTH: 300 MM OR LESS) ... 28
e SR-721RD (EFFECTIVE LENGTH: 350 MM OR MORE) .....oiceeeeeeeeeeeeeeeeeeeeeveee e 29
e SR-721RN (EFFECTIVE LENGTH: 300 MM OR LESS) ..o e 32
 SR-721RN (EFFECTIVE LENGTH: 350 MM OR MORE) ....oooieeeeie e 33
e SR-721RM (EFFECTIVE LENGTH: 300 MM OR LESS) ...t 36
e SR-721RM (EFFECTIVE LENGTH: 350 MM OR MORE) ..cetieteeeeeeeeteeeeeeeeeeeeeee e 37
S P E I AT ON S .o e e e e e e e et e e e e aee e e e e e ee e et s e e e e st et e e e e e e e e et e aaeaaaans 39
A C CE S S ORIES ...ttt e e et e e e e e e e e e e e e e e eneeann 39



5 &

® SR-721RD%E!, SR-721RNZ, SR-721RME
ERT—LE~y FA—MEEhTWET
DT, BRUVUWRUBRMAHEEE{Ezh T,

® SR-721RD&!, SR-72IRN& (I X 4 — )L
T=TFIWERBZAXTIHIMFVTVETD
T, BEEIRIIARODFF I HICERT
2Z9,

® SR-721RNEUIBIFENHK S — 7L 5B L T
Ny FPUTEROFF I 9 12 6EHRT S
ZEeNTEET,

O SR-7T2IRMEN I X & — )L — T LI~y
F7Lo7THAMFnTVWETDT, EEAYF
TUoTARODTT O 9IZERNTEET,

o /NETY,

® F2h{£800mMmLL L THREAMBAEEE &K
wHA H300mms ) b ABNFE, FRT Y
PTL—bADEET,

24— )L/ SCALE

FEATURE

e Unitized scale and head makes it easy to
mount in correct alignment.

« The SR-721RD and SR-721RN have a scale
cable terminated with a connector and can be
connected directly to a detector with the mating
connector.

+ Theprovided HK cable may be usedto connect
the SR-721RN to the detector which requires
the HK cable unit (including the head amplifier).

+ TheSR-721RMhas ascale cable with the head
amplifier and can be connected to the detector
which requires the head amplifier.

+ Compact design

e The centerfootplate is mounted for the scale of
effective measuring length over 800mm (31.5%).

¥4 % /DETECTOR

SR-721RD

:MD20-1G5BR

A

SR-721RN

EHr— 7L (R15)

Y

MSD-3036RV(RW)

HK17 — 7 (~v F 7> 74t)
HK1 CABLE (HEAD AMP.) —

Head connecting cable (option)

MD30-1G5C

SR-721RM

MSD-9037R(RG)




#ED&F/ NAMES OF PARTS

® SR-721RD

QBTN (KBTI PMEX35-4K{EH)
OFHERRY—7
OLBRANGS (=P EVRH)
OBELER{TH M3 (4K)
OFRSLEY—7
O144% (SERIAL No.=COMBINATION No.)
@¢5/ v EVEBR (TRe48)

ABESE
OBFR (RBRATFIL FMBX12-2FK1EFA)
OR545 (~yFE+ )T )
®¢5/ v ECBR (FTRe4.5)
®7>45v b
By by —T0
@Dsuba 7 %
O~ Fr—7

© M6 x 35 mounting holes
(4pcs. hex. socket head cap screw)

O Effective length mark

© 5mm dia. dowels (For gauge pin)

O M3 mounting screws (4 pieces) to mount jig
block

O Absolute zero point mark

O Name plate

@ Hole for 5Smm knock pin (4.8mm bottom hole)

© Jig block

© Mounting holes (For M6 x 12 2pcs hex. sacket
head cap screw)

@ Slider (Head carrier)

® 24.5mm/0.18” dia. hole for @5mm/0.2” dia.
dowel

@ Bracket

® Armoured cable

@ D-Sub connector

® Head cable



® SR-721RM

QBT (KB RAFHIL PMBX35-44KFEHA)
OFNERRT~Y—7
OERA NG5 (F—CEH)
OQLEELERfT® M3 (4K)
OFESEEY—7
@221 (SERIAL No.=COMBINATION No.)
@¢5/ v ECEHR (TR¢4.8)

BESE
QBN (KRATITRIL PMEX12-2K{FER)
O2R>45 (~y FFLYT—)
®o5/ v ECERN (FR@4.5)
®7>4 b
(13 m I A Al |2

@~ F7 > THA-15

G~y FTr—T N

© M6 x 35 mounting holes
(4pcs. hex. socket head cap screw)

@ Effective length mark

© 5mm/0.2” dia. dowels
(For gauge pin)

O M3 mounting screws (4 pieces) to mount jig
block

@ Absolute zero point mark

@ Name plate
(SERIAL NO.=COMBINATION NO.)

@ Hole for 5mm/0.2” dia. knock pin
(4.8mm/0.19” dia. bottom hole)

0 Jig block

© Mounting holes (For M6 x 12 2pcs hex. socket
head cap screw)

@ Slider (Head carrier)

®24.5mm/0.18” dia. hole for 85mm/0.2” dia.
dowel

® Bracket

® Armoured cable

@ HA-15 Head Amplifier

® Head cable



® SR-721RN

QBTN (RBRMFHRIL b MEX35-4K(FEH)
OFHNERRY—7
OLERA N5 (=2 EVH)
QOLEELERfTR M3 (4K)
OFE=SfE~Y—7

O#844% (SERIAL No.=COMBINATION No.)
@¢5/ v 7 ECAR (TR@48)
@kLE2E

OFRFTR (KBR{FTHRIL bMEX12-2KFH)
O25145 (~y FE+)T7—)

®o5/ v o ECBER (TRe4.5mm)
®757 b

(13 Jm IR 1%

@~ F7 > THA-5

®ax2s5 (1)

Gaxrs5 (£R)

O~ Fy—7

Ay K — T L (35 i
Head connecting cable (option) :

© M6 x 35 mounting holes
(4pcs. hex. socket head cap screw)

@ Effective length mark

© 5mm/0.2” dia. dowels
(For gauge pin)

O M3 mounting screws (4 pieces) to mount jig
block

© Absolute zero point mark

O Name plate
(SERIAL NO.=COMBINATION NO.)

@ Hole for 5mm/0.2” dia. knock pin
(4.8mm/0.19” dia. bottom hole)

© Jig block

© Mounting holes (For M6 x 12 2pcs hex. socket
head cap screw)

@ Slider (Head carrier)

®04.5mm/0.18” dia. hole for e5mm/0.2” dia.
dowel

® Bracket

® Armoured cable

@ HA-15 head amplifier

® Connector (Male)

@ Connector (Female)

@ Head cable



ERF =&
1) BT8GR

® Ry —JLIIBHNIMI IR C ITHRB LT SBMAT &L,
OVIRFYIR—ARF vy I E RS —VICEEBINE L THLRBERSH Y 2 HAD, HICHE
HEF v v 7ENHHHBR0mMmAEE L THSRAFT TSV, REFEXNH -2 HBHIETTT
Sy,
O FRENMPREANT BBy — L 2RI 256, REND, LELRENH N —%8
BT S0,
& 27— IVBRATMIE I3, HIERDAD LRV EBBRUTEL, ZgBedElEDH,H S
EZATRFAFUAN—EBERMAITTEN,

2) BRfFmm &

@ X
, ; X
e
g O “ ﬂ )y
4 g
g — A
7 g —
g ” g
A Ve
A Ve / 7

(A) (B) (€) (D)

(A) (B)—1 (BL, U3 - TIEIREBA CERT(A)DEITIT A 4512, #ELET,)
(C) (b)—=&

BAORmEERIZE->TIT-oTTaw, & (D) R —ILEEICH > TEffIT28, X5—IL
B TIEIMEL Y FEANEEE, FFELY, BHEGTTTEN,

3) BMFEHEODRE

25—V EEOERICHIBEVREBRRAY—I7BHIENRERLET.. A 71 SR OMHENE
HEENT—TAICADL ) RT—LOEEEREL TTE L,
2T =@ A =N=FFBHHYY ETH, thUERASA 528G ETE, RT—LERK
BEETLEVWETOTITEETE L,
F—N—F L RBE
F#H&E300mmULT  9mm (E4), 19mm (HE])
/7 350mmbliE 50mm (ZE4), 50mm (FE)

10



MOUNTING

1) Mounting Position

+ Mount the scale nearest to the cutting tool position on the machine.

» Keep a strong magnetic source such as a magnetic stand at least about 10mm (0.39”) away from the
scale.

» Use the scale where it is free from direct sunlight or a powerful heat.

« Do not apply undue force to the scale.
Provide protective cover where necessary.

2) Mounting Direction

« Mount the scale like (A) or (B) as shown below.

© X

\

SO NONNANNNNANNDS

O] O =

(A) ® (© (D)

SONNNNNNNNYN
 —

Position A is especially preferable as this positon will mininize the exposure to chips and coolant.
Use position B when position A is impossible.

Do not use position C because oil and chips may enter the unit.

Position D should be avoided for ease of mounting and maintenance.

3) Setting of Scale Travel

The range between the two effective length marks is the effective length of the scale. Decide the mounting
position of the scale so the center of the slider moves within this range. Never force the slider to exceed
the safety margin provided at each end of the scale, or the scale will be heavily damaged.

[Safety margins]

Scales with effective length shorter than 300mm (11.817)
9mm (0.35") at the left
19mm (0.75”) at the right

Scale with effective length longer than 350mm (13.78")
50mm (1.97”) at the left
50mm (1.97”) at the right



4) =70, AF T IDRE

Ny FH5—TIL%E(B[3R-1V, HDVEEELIFHITLY LEIT BT A2ENALHYET
NT, BIRWIZITZETEL, XNy FHr—7IIna3 2 9BIZTBPLEENHH ST WEE

ICERELTT&EWL,

5) Ef+#Ef& A MBXTS
e xr—Jl, RURTA F¥OEMAEEARE Emmm—
)L, SBTERICH-T, RAR O g—a
DELEBIZENENMBXIED Y v TR %12 j N—
TTTFa&w, (Fig. 1) [_ R
M, BTEICHLTTER R ITEEICKET -EE?C
CEEL, Fe 1 |24=0.2
ARBURMERERET 2T, %9% 7@B,CEICHL TEBETREICTS,
® X —VEAFEA, BRU RS A FBRAFEC A, BEFEE O0immBLlA
NFEHE., FTEESoH LOHRILTOEIC CEFHEE 0.05mmiLA
HLTT&L, B~CR«M  24+0.2mm
B~CRIFTE 0.05mmilA
(BRI CZ2ELHD)
OFTES—R
| . RBARfTHRIL b M6 X35 (Rﬁ'—)bﬁzﬁ'%) ................................................... 47
MBXI2 (RS A G /) ererrermeremnrirceitiiii e 27
MBX12 (FRERTw b T Lo— b /) cereememmmmmmmmmmmmnnseineeee 1K
2. /oy GOXAS (R4 —JU [/ ) eeererereeccieet e 2K
GSXI0 (RS AH /7 ) wrerermrremririaitn 27
3. h=xT DB MAX12 (BLIRIE B FR) -wevverrermerreremaemmmaammanaaaaaaaaasasaaaaaaes o
4. FA4F— t=01,05,0.6,08,1.0,1.2,1.4(mm)N A, LERESEFER - T
5. ZSATEARCEATT Yo (MBFE) e 25
6. / 2TV T Ty (MBE) corerrrrrmrrerrrresiie, 24
7. Ty st (MAFR)  coeeemmemme e 34
8. ERERIE D (R) (=T ILEITEE) oovrrerrrrrere e 34
@I EE (TRETzWL,)
|. L ‘/-?- M6% (3@'17_],5), MS% (3&&25) .................................... %17_{:
2'@1:.3,(/\-‘_ ................................................................................................ 171&
3. BELRUIL (/YT EDGETNT A F)  crreereeremmenmmmr st L
4 . %;ﬁ?%ﬁux—ﬁltitﬁy7%7\7% ............................................................ 1zt
5. #0232 —7 (BE0OIVLLE, BEEBEIMHZELE) o 18

12



4) Protection of Cable and Connector

Do not pull the head cable forcibly or bent it repeatedly, or it may break. Further, protect the cable and the
connector with a cover from chips and cutting oil.

5) Mounting Preparation A
& 6-MBx15
« Tap the mounting holes for M6 x 15 as perpendicular as NSNS \;
possible to the mounting faces. (Fig. 1) ISl
» Improper installation lowers the scale accuracy. O §./ B
« The flatness of the mounting faces A, B and C should be kept | —
within the following tolerance: l'- g
A, B: Less than 0.1mm (0.004")
C :Less than 0.05mm (0.002") HEE
Distance between B and C: 24:+0.2mm (0.94+0.008") g
Parallelism between B and C: Less than 0.05mm (0.002”) 24202
0.94” +0.008”
Following parts and tools are used: Unit: mmvinch
Fig. 1
Standard accessories:
1. Mounting screws (hexagon socket)
MB x 35 (fOr MOUNTING SCAIE) ...eeeeiriiiieeeeiieeee ettt ettt eeeeave e ee e teeeenneeeeereeennns 4
MB x 12 (for MOUNtING SHABT) ...ceeieeee ettt et e e eeeneas 2
M6 x 12 (for mounting center fOOt PIAtE) ......cccvriiierieeeee e 1
2. Knock pins
@5 X 45 (fOr MOUNLING SCAIE) ..ot e e e eeaeea e e e s e s esmeeeaeaeeeesesaas 2
25 X 10 (fOr MOUNEING SHABT) ...eoeiiieie et e et e eme e e e e e e e 2
3. Pan head screws
+ B M4 x 12 (for clamping CabIS) -.cooiii ittt 2
4. Liner
0.1, 0.5; 0.6; 0.8; 1.0; 1.2; 1.4mMmM (TNICKNESS) ..eeeieiiiieiieieeierreeeitee et 7
5. Flat washers for SlAer (O IMB) .....cei oot ee e e e e e aeaeaenees 2
6. Spring washers for slider (for M4) ... e et e e 2
7. Flat washers for shider (for M4) ...t 3
8. Cable ClIPS (DIg) «eeeieeeieee et ee ettt e e et e et ae e ar e ennaeeeennnannes 3
Tools required for mounting:
1. Alien wrench (width across flat 5mm/0.2” and 2.5Mm/0.17) ...coii i 1 each
2. Phillips head SCreWdIIVET .. ... ittt e 1
3. Electric drill (for drilling @5 Knock pin NOIE) ... 1
4. Electric micrometer or Test indiCator €1C. ...vvi i e 1 set
5.

Oscilloscope [ Sencitivity: 0.01V min. |
| Frequency band: 1 MHZ min. |

13



6) B 1 Fig. 2 A
4-M6X35 E&\
Oz TR7—ILEMEX35HIL b AR TERITAEIBIC 5 ——

Z(RESHL, HIB0PEHEL T, & (#HHE O g—g

EIZQ U €%, A7 —IL%A, BEICDE —— {_-

HTEZELET., (Fig. 2) 8 = =
ORIZZAZ 1 5OBMATY, (Fig. 2,3,4)

£7, 55— ELAARBELEN2ONDTIC 2-M6X12 c

BLTR(BSZCERBLET, -y |2MR 7T 2 g1.5mm

CHEEBEE, M3EL AL LEHTHE ‘ Sq4+—

ERBLRAFATDUBLAERL, Y- |ZMBFTv~
CHB(BIUETHBUBRELET, LT,
HOoNPLOBEBEINTUVWDIRASAFYRMABT
v b (CEEEER) 2XS515DTIZL
LB EREESEET, XRSTAFETS Fig. 3

7 b OBEEIE, FZEFEISMmE Y T, S4F—@AL
BeDTHEEICLY, BRAOERET/NSY |abcdnsaT

&9, BIEME
TRICRTFIBLH->TS A F—0BRaTF | 277 L.
W, A4 FNBEEEXT->TTFa L, b .' g

1) RS54 5 cCEE NEM?Da, b, ¢, dIfIc
FWT, R/ MEXRTEREREDITS,
(BBEESAF—%2BATDZ 2L
HEHRET, 4 F—NEHFHESE
IZ& U0 ImmEIC1.0~-20mmzE TE S h
£9,)

2) L&) ORIMEBNRS A Y LEEFIZE Yy
TR EHETFOLEY b3,

3) RIZZAF+—E2RET 3,
(CHERS A FORERICELIRIRL 1=
FAFT—%BALEE, Evrs/FXtn

EHO~0 MM LB A RLI-EH%BIF& EvoFRb

LET,) F

4) LEE3) TRELILIFAF—#BALILRK — :%ﬁwﬁﬁmgTa
BTRI7 A4 FBRYFTRICME X121 b M
2RERTY LT Ty v EFETy v ARz
EALTEZEL, Ev 2 F X FO@EHOE — —
O1mmtlm?§)n‘f%70 Fig4 254 TEIEEMIFIL bAKRIEITT

(00 IMMAEH A 1235 E(E, SAF+—%%
ATRHELTTEW,)

OELEELEBMfFOMIEIL bAKELL > F (0
25mm) TIETLAEELEZTMNLET.
(Fig. 4)

ORT—NLTZ57 Y b RURS A FEEEICEE
TB®, thetn/ vy o 53TAZET,
ITATCHE 48 (RT—ILT 54 v ) ¢45
(RZ4F) OTFTRIZOEDREHITHED / v
Y (RE—=IVT 54y PBe5X45, 25 §§%

15 Be5X10) %3TiA& 7, (Fig. 4)

OB T —IVETT I 5 IZERE, T—7MIER 2317 2-MBX12TEE
BMUIEDEFERA LEBMAXI2A S TET v v & (RTY o Ty,
ALTEELTTE L, Fovrw)
SR-72IRNAZFETRA~ v Fr—7ILmiEslE T —

TIEBIZDOWT (15 =) #BBLTFaL,

/v ECBedsR

14



6) Mounting

4-M6x35 E A:
© Mount the scale loose onto the machine with 4 _ﬁ_ NI
pieces of M6 x 35 screws and leave it for about 30
minutes till it gets the same temperature as the
machine. Then tighten the screws to fit the scale
firmly to the faces A and B. (Fig. 2)

2—MBx12
@ Mount the slider next. (Fig. 2, 3, 4)
Check a 85 gauge pin passes through the two
holes of the jig block smoothly. Move the machine 2-M6 Flat washer
so that the slider mounting bracket (C in Fig. 2)
may be positioned underneath the slider. The
slider and bracket have a gap of 1.5mm/0.059” in

2-M#6 Spring washer

Slider

design. Adjust the gap using supplied liners as Fig.3
below. Find the minimum
g,ag,?taonfd d. Qlo©oQ
1. Check out the gaps a, b, ¢ and d between the 000
slider and surface C of the slider bracket {Fig. 3) a \a fe—c
and find out the smallest of the four gaps. Use b o ©0 d

Pass through a e5mm/dia.

lied liners that provide a thickn f , k
suppiie proviae a ess of up to 0.20” gauge pin. P Four M3 bolis

2mm/0.079” at 0.1mm/0.0038" steps depending
on their combination.

2. Put a test indicator on slider at the gap found

the smallest and zero set the test indicator. .
C (Mounting

bracket)

™

3. Select and put liners in the smallest gap so the
indicator reads 0 to 0.1mm (0.0039").

4. Secures the slider to the bracket with two M6 x
12 screws and spring/flat washers. Check the test
indicator reads 0 to £ 0.1mm (0.039"). If not,

. Adjust to ’
change liners. ‘ L\AA’J the minimum gap
© Take off the jig block by removing the 4 pieces of

. . ” View A
?23 s:;ews with Allen wrench 2.5 (dia. 0.01"). Fig.a Aftor frding the Sider, remove
ig.

these four M3 bolts.

Slider

Pick test

O Make g5mm (0.20”) holes to receive dowels
(supplied) beneath the scale brackets and slider.
Knock the dowels down through the holes. (Fig. 4)

O Connect each scale to the detecter and fix cables

using clips and ®BM 4 x 12 screws and washers. @ »
When using SR-721RN head cable, refer to <

« ” [

cable” (page 15). / // iig block

% =
p4.5mm/dia. 0.18”
Slider knock pin hole

Fix with two M6x12 screws
(with spring washer and flat washer)

15




1) EXES(PMES)DRERE

SR-721RD, SR-721RN, SR-72IRMEIT /2 X4 —VIERBE R —ILTT DT, BITIT#15~
200 BU L LEBEEZT>» THOPMESOEREZLITITL->TT AL,

PMESDRERFEIE, FF250RMMALD BELHE OBEEASBLTTaL,
PMIESDY v 7L8 (c/d) %, 0.025L T THNIEtNE  TEATE L, 0.0250 EDEEIZPM
ESRMEFEICK-T, 0.025UTIZH B LI ICHEESBEVELET,

B) R —LEBRHALT S

—ERMIIBRAONI ATV ERANTHE, GE2EAFERLASA 2 X7 —ILIZEELT
Taby,

o~y FBEZEA% (Fig-558)
(JABESETRY—LRBRUZS 1 ¥4 EE 5T -2 LL > F (x$i82.5mm)
TT 5, 2-M3X5
Q27— EE S-S EL TREBEEHEL \ 2-M3X16
TEEY 3. b
BRALEICRSIAFTRETF—2 L T
BEehbt L TEET 3,
ZOEHIZBAETRII L) R —L L
~vy FOMERFREBERARLE CREHNBR
SNETOHT, BEBRMTT HHBEESH T
LNhET,
BT, BESE, F—CECBRBELTS
WTTF &,

8) FTFI I LDERE, GEEL

TTOIICAT—IL2ERT 2560, YBTHELLTTTIINERRI v F el 128%
RLTHBIT->TTFEL,



7) Checking the Electric Signal (PM signal)

When the scale (SR-721RD, SR-721RN, SR-721RM) and the cable unit have the COMBINATION NOs.
which agree with each other, the scale and the head amplifier are electrically calibrated. However, be sure
to check the PM signal after 15-to 20-minute operation after mounting. For details of PM signal checking,
refer to the manual of the detector if the PM signal ripple (c/d) is 0.025 or less the PM adjustment is not
required. If not, perform the adjustment to reduce the ripple to 0.025 or less. For the procedure of
adjustment, refer to the manual of the detector.

8) Removing the Scale

To remove the scale after it has been mounted on a machine, the jig block is used to mount the slider to
the scale.

 Remounting the Head (Refer to the Fig.5) omm dia. cauge Allen wrench
pin width across flat 2.5mm/0.1”)
. . 2-M3 x5
(1) Temporarily mount the scale and slider
using the jig block.

(2) Use the scale gauge pin to position and
mount the scale.

(3) Inthesame manner, usethe slider gauge
pin to position and mount the head car-
rier.

This procedure maintains the relative position
of the scale and head as the same as when
originally mounted when remounting.

Fig. 5

9) Connection and Disconnection with Detector

Whenever the detector is to be either connected to or disconnected from the scale, always take care to
remove power from the detector first.



ARESICDOWVT
1. ERAEENERROBR

SR-721RD — 500 — R — 20 (Y/x—2X)
B oz FowE BAMLE BEFE

BEWEKRY—7

1. EYREBEAMEIZ, BRIXILTERDT,

SR-721[RD| 5004~ ™" ™

o B S (mm)
Zero Point R - 20/

*Serial No. 1]0]0JO]O|1

(1) BEiE
ORZ, Rightd(RI&2E%RL, AEMEY— 7 Hh LNEBETON S (BHEF2)ETET S,
OLZ, LeftD(L)52E®RL, ZENERY— I A SOBEBETOH, S (AR 2) -1 £TET 5,
O RESE, Centerd(ClNHET S,

1-2. BEFEIEBEEY—T7 NI — 2 THET S,

LB
=

18



BUILT-IN ABSOLUTE ZERO POINT

1.

Left effective length mark

Nomenclature

SR- 721 RD - 500 — R20 (Reverse)

L—Detecting direction
Model name Posmon of the absolute zero point
Effective length

Right effective length mark

o

Absolute zero point mark )

1-1. Effective length and absolute zero point are indicated by the label sticked.

S R-72 1 R D 5 O O P Effective length (mm)

| Position of the absolute

Zero POint R - 2 O 1 zero point (mm)

*Serial No. 1]0]0}0|0]1

(1) Position of the absolute zero point

1)

2)

3)

“R"” means “Right,” and indicates the distance from the right effective length mark, from 0 to (effiective
length = 2).

“L" means “Left,” and indicates the distance from the left effective length mark, from 0 to [(effective
length = 2) —1].

The center absolute zero point is indicated by “C".

1-2. Detecting direction is shown by the pattern of the absolute zero point mark.

: Standard type
ﬂ : Reverse-direction type

19



2. EREFR

2=, FF O INBESREFRICLVEL S, —FE(EAR)ESEE, BraESEHED
CFRICHE TE A EAREAREL TV T . R —ILETF o NI EDEICL BESE
HAERE, TROE—1IZHEEIET,

*=—1

B S A A FFoID
B o7 B % BEBESR | mepa

EEMALR J/N—Z{tH L

O O MSD-9036RV | —FEIESAR o
SR-721RN - ; ;;172'3

O X 1 MSD-9036RW | @ARESHF Ny

O O MSD-9037R —FEBREFR | Ay FT7L T
SR-721RM - HAAS

O X it MSD-9037RG | ARESAZ -
SR-721RD O O MD20-1G5BR | —AMES A= | Dsuba 7 %

E) XENG, ERELETT,

21 —FmERFR

—FEESRETIE, RS54 5PEFHFHICLVEESMBEHNELRY EFT, > T—FROBED
H, AT = ENBEET—I tEEEESN—HTHLICH->TWET, ¥O—HTDFHEII,
EBELTHETTIL000, )/ \—XE#TL, TLoO®OTT,

(1) EEMLH
Oy —ILBHTRSASEATNESIE, RSA TR LEBET—IHENLBBT DFHMEL
Oy —LVEETRSA FBHNESE, BEEY—0 45X FR0HAENCBEBT 2HE,

BEAHRESY—7

Oeo _o / @ ©

o

Der—m 3 D©)
— 0o o

2} l 0o |00
Gm—
QONFEERHNBE, BEEv—o &

FERESH»—T 3, A

0O EFHTESEET Y, BS
T— s L EEESY, R—E Bt 4—10mm |
B DEEIE, ThixuwI e,

20



2. Absolute Zero Point Detection

The scale has a built-in absolute zeropoint which enables either uni-directional or bi-directional detection
depending on the detecting system of the detector used. The combination of scale and detector determines

the type of absolute zero point detection as follows.

SCALE DETECTOR | Connection
Absolute zero pont Absolute of scale and
detecting derection zero ppint detector
MODEL MODEL detection
Standard Reverse
SR-721RN @) O MSD-9036RV Uni-directional HIROSE 12P
©) X MSD-9036RW Bi-directional connector
SR-721RM O @) MSD-9037R Uni-directional Head amp
o) X+ MSD-9037RG | Bi-directional HA-15
SR-721RD e} O MD20-1G5BR Uni-directional D-sub
connector

* X: Do not use.

2-1. Uni-directional absolute zero point detection

In the uni-directional absolute zero point detection, the position of the absolute zero point depends on the
moving direction of aslider. In this detection, the absolute zero point mark and the absolute zero point signal
match only when the slider moves to the designated direction. When a standard type is used, the mark and
signal match when a scale or a slider moves in the direction indicated by @ or @ respectively in the figure
below. When a reverse-direction type is used, they match when a scale or a slider moves in the direction
indicated by @ or @ in the figure below.

(1) Standard type

@ When a scale moves and a slider is fixed, the absolute zero point mark
passes the center of the slider form left to right.

@ When a scale is fixed and a slider moves, the center of the slider passes the
absolute zero point mark from right to left.

Absolute zero point mark
of standard type

@ ) ©)

——m———

©
e m I 09
— oo o

When the absolute zero point is detected in the ) I @Xe) oO
© or @ direction, the mark and signal match, —

When a scale or a slider moves in the reverse
direction, the mark and signal do not match. Do N
not use this direction for detecting the absolute

4to10mm |

zero point. -
0.16”t0 0.39".

21



(2) Y-8 (BEEHECIBHICTESKYE)
ORTr—ILEBHTRASA TEENESIE, RSAFFLEBEEYT—IHENLEBRT DFHM,
OZX5—ILVEETRSA YBENESE, BEET—045R5(FROUHPENLERT SFM,

YN—2RERESRT—7

Ve

@ © @
0@ ©Q
C——  Joo

l]OO 0O

OONE=RENH S, BEv—7 &
BERESHF—HT D, A

OO FFETESRETS L, B
TS LEEESN, R—HEN DI 4~10mm
B IZDOEEE, ThbhbihuwI e,

222 WAMERAR BEAHOH)
A5 THEET—2 5£BBT HL16 (MS) D/XLRARELET. FABEL ZHA,

© e ® ©
© @ __m ©Q
— 0o o

—TQd’oO

22



(2) Reverse-direction type (The absolute zero point is detected in the reverse direction against that of
the normal type.)
© When a scale moves and a slider is fixed, the absolute zero point mark passes the center of the slider
from right to left.
O When a scale is fixed and a slider moves, the center of the slider passes the absolute zero point mark
from left to right.

Absolute zero point mark
of reverse-direction type

A

@@ 5) @@
oler—m s |9g

{ Qo0 ©

When the absolute zero pointis detectedinthe @ I OO0 00O
© or O direction, the mark and signal match.

A

When a scale or a slider moves in the reverse
direction, the mark and signal do not match. Do
not use this direction for detecting the absolute 4to10mm |
zero point. 0.16" t0 0.39”

2-2. Bi-directional absolute zero point detection (standard type only)
When a slider passes the absolute zero point mark, a pulse of 16ms is generated. The direction is not
specified.

©

Ole

(@) N — 3 ©
—— oo o

TQJOO

23



F—=TIEIZDODWNT

BSR-72IRNE B#ERHi~v F4 — 7L (BI5E)

O IEFmA Y Fr—T N F4BENREIHNVBESINTVET,
HK1-03CR (3m), HK1-05CR (5m), HK1-10CR (10m), HK1-15CR (15m)

O Ry —LLHSTHFINTUAWESAY Fr—7 L, ~v F7oTOBRBEHIFLET
THLERMGE 7) BRESNRER, 2SBLTUIT-TTaE L,

OEHA Y Fr—T LRy — LS HFTIN TV S5 E(E, COMBINATION NO.& 27 —
JLOSERIAL NO.AB L hHERO L ERT & L, (COMBINATION NO.=SERIAL NO.)
HERCEELTA ST $T4, BOLDHLT 7) BRESORR, +SRLERFRE
FE>TTaw,

O X —IBELUVHKI F—TIVEDRBEFICL VERE 3P DELBEI. XF—Ivesr—T7
WEE—#EICL T, YT R AT —IWMRASHY —EXETIRET SV,

®

~yFT7YT e
HA-15
AT TS5ST(AR) l] T

£ O B#E RMISTID-12S

ALTy bE=T N T
d

24



CABLING

B Head connecting cable for SR-721RN (Option)

Four cable types of varying lengths are available as follows:
HK-03CR (3m/9.8’)
HK-05CR (5m/16.4")
HK-010CR (10m/32.8")
HK-015CR (15m/49.2)

« |fthe head connecting cable and the scale unit are shipped separately, electrical adjustment of the head
amplifier is necessary. Refer to “Checking the Electric Signal” and perform the adjustment after
mounting.

¢ Thecable unitand scale unit have been electrically calibrated only if they bear the same COMBINATION
No. Check the No. before use. (COMBINATON NO. = SERIAL No.)

» Be sure to check the calibration referring to “7) Checking the Electrical Signal.”

e In case the scale or HK1 cable needs to be repaired or reolaced, contact you Magnescale Co., Ltd.
distributor.

Armored cable

)
|
M COMBINATION NO.@ ”
L
©J

HA-15 Head AMP _L-»

Female connector ) ”
RM15TJD-12S (Hirose)

25



NLe—Ly s lE

@
9c

v0

— 4, cW0'1+50)

(FEh) —+ ) €151
AL =230
DS & ¢ ¥ TS~ Aaansg T
) ‘ ar (ML~<A¢h7)MSVO-2 09 ! ovl %
(VFP) 272 @ |58 oo
© “ (MAAACA ) ¢ oBRE 5 [Xh% ”,\O 3
@ 7 7 AR gve-g fORCR S 2
i Fans v L e - 0T | B T4
GO Fant| i — / e \
7 e o 8 |l @ I Jits K Ah &6 8
- 17 WS
o _/
v [T ¢— 2% Yy
(Mphm) -
e
O (1 4 4SUP SLbb j Flheh L
o8 - — ) sor OVH+FH @ H = £ 4 QMM ol
(R22)

O+ HE=943

(Lrqwwooe=¥8) FF L2(44QHleL-HS

26



BEHA =1L & ¥

NL—& A7 E

DI
“Tgov
Eﬂwm L L L ya PAVA VAV LL L “

S/\XHEF

CEEUQAHMISH S
USRI G (1 PWWO0E < ¢ ¥
SR ). TYTWWo08 s 16 & x

I 214

— 4} W 0'1+50) (MEFEXLPMEVMH) _ K2
(#¥)—+ ) )51 1 =LA A L¥dh | cEEre AL — 4,20}
. (Md~<Aa¢47) «mﬁnﬁxmgg_é&hvmm/ 3 ”ﬁtELHB%Hahﬂ%\ R
rorbe - : (Mi-ac4/)ugvez . wm D
/ : 0002
N G—o g Aw....«..v&vkﬁum ADN 5t ot
I3 [Nb%|-d-b
. |8 s %] g |
& I SR & £3 % m ! @@@@M ( @@,
POk S| F - =1, e
00 1eLHS “ !
JeodskA- 5 @ [ _ / « e
K 1. -/ L
@ (g V| . ¢—&NH v
5 Ol¥ (1 £ 4SHD GLO-P T s 0cl
I'6e I 60, 0CC+H W =-£ 4 AN HH ol
T o+ e =9%

(Trawwose=¥g) K L24¢aHIeL-HS

27



(1.,.¥0°0/0°} +1,20°0/5°0)

('PIS1,90°0/5°+) Joury

KERVR LS

youyww :jun

80008 4G¥6°0
zo1 V2 :kmm.o
9
i
n .uw =1
alg ¥ 7 - SR
Mow Y F---F - ? i
o [
ot S ATy z
RS s
e 2 Rion
V7 S S X
7,57,
oloe 177
ojon
o
3
“oP
M
; avoo
4G HI'6E I

.88'2/8S

L9L

8|qe) palowiy

0

(=]
o
=
Q

10)98UU0) Ud-G} GnS-a 181u80 J8plS

)

(.¥6"e/wwQo} jo yibuen
1< 2M98)13 Ue 104 b/ €/56)

(8j0y Bununow) deeq ¥ '0/01

Buie 10dg "ep ,Gv'0/5°4 10

a|qeD 10j0NpuUoD-0}

(aioy jemoqQ) "e1p .‘m_.o\m.g.m/ HWM N\Mm | g0, SSO7
LG H "¢z1|. »9'522/000L
8oy Bununoy) ‘eip ,82'0/20- = G2l -
(sjoy Bununow) "eip ,82'0/20-2 R oz 5 oI
.0 o
MeW yibua eanoey)3 ala Ww D o
(ajoy jamoq) : p Lol | 0o
T 0 e Y e Y~
BP 6108 v0-C -l _als .
4@ FOY — ®lo-o¢ M ® &1y 5
(o2 sy N
U B . N 13,
L _mw @ (L Jieds \ A“ | gy |4
:w,.o\w I~ syiew juiod o187 S0
~ T qibue eAnde)3 56 25L
) 00, 155/ <5+ OV} + yibue eAnoay3 = yond ajoy Buunop BT0/01

,£'9/091 + Yibua aae})3 = yibua |leIeAQ

(SS37H0 18"} /wwooe *HLONI T IAILO3443) SNOISNIWIA 3AISLNO aHL2Z-HS

28



~.82ess 8|qeD paloily
rel
wﬂ ]

Ul¢ sl
Bununow aje|d 100} Jajus) u_.ﬂ_.ﬁllllnl_qkﬁ)lw

/L x yibuan jeserQ

L9

~.50°0/2S “\‘Nv.:wm._
| JE8HSoY | 2081 N
wmeq oy . —ch — 7 1 m t
. b
“ M ? ¢ I
0 B
b ) R B
olo Rlo
ar L9')
: W00 |l J g '
[NV 74

‘8I0W 10 G LE/WO08 ©

s1 y)Bus 8Ala)j3 1 uiod 018z Jajusd e &

(1,v0'0/0'} +1.20°0/5°0) 10} sjqejunow (ejoy Buyunow pajebuojgy
(PIS1.90°0/5°1) J8UN | ceg x eip ,82'0/6 X £0) 81eid 100} Jejua)

Wl

-—

[ed
=
(=]
n

.9'G42/000L

"81qeD 101PNpU0D-0F
(,65°0/G1 + 2/} X WibBua anloay3

.a0007 «GV6'0 ( v 10j0auuo) uid-G| qnS-q  J8jued 18pIS :eje|d 100} Jojuag Buyunop apum) /]
- . 8|0y |amoQg -+ : > -
zorv2 |[«€90  <gp Bromvee (010U 1oM0Q) BIp 81015 702 .9ETI09 50, G m\oi
9l WS —\Ov\_ G2l
’ ey yibua aAnoe 810y O1W) [
HEW UBET OO "®eIp ,82°0/£0-2 N-64°0/02
| of N o
@“ﬁg /J ﬁ\ .w o
— P> = H.MHO 82
n =8 =1 N l— | ~
g N7 SRS > S/ i L. .
i oo VB —) & | N [oldyl . |5
ol = - o ] “ ! © ® |3
8T R m o L _Jwts “ i @ 2 |a
u il R §_! : @ Ry
7 = /
(][
ol (a10y OLW) SIB WUI0g 0187 :
Q - daeq ,v"0/01 Buioed 1odg L0y
w-mp ‘elp G¥'0/S°L10 "BIp E°0/G°L0-b yibua aAloa)3 oL P02}
TRV S 05+ ,99'8/ 55+ 022 + UibuaT aAnoa)3 = yond ejoy Bununoyy LGE0/01
’ .G¥'6/0v2 + yibua eanoajj3 = yibue |jesan0 "

(oL Y)

Youyww yuN - (JHOW HO 8L €L/WWOGE “HLONIT 3AILO3443) SNOISNINIA 3AISLNO aHLgZ-HS

29



— £} cY0'H+50)

(H %) — £ » 151

207 VO | |le—n

9l

17865

oe

9c

e

'8¢

5

gL

g9

Lree

)

NL—L A E

N
i
{ “ I
o o
—_— »
—=8— I |
__ M- s
g3 =@,- g—- -_D S —
- ] —_———
o 0si AL — 14,701
_ L 0 - 0002 ) _
B ,h\ihnm—.\%/:\v Vthg b ¥ (S6EIWWO0I = (5 &)
“rert (MAi-Ach7) usvoe 0o 1 . Jow
"o () gl |92
L2
G—oFEY
(M <A 447) 9
Ygve-g L
LY —
| — 18
N hWWmv C_Jieits 8

o4 3!

h&HSHS GLO-V

S F

=192

Gl

GOV = £ 4 QNI

ot

0O+ FRE=8F

(Lrrwwooe=x (s e) EF L4 44INHICL-HS

30



BHE — L4~ 2%k

[4°]

T Gg9ovr
Eﬂu% Yy \\\L

St

hﬂlml

CERUSARUIBEHE U AWM O F
WWIOOE S ¢ B3 % B B 27, (0 Y Wil ). T VI WWO08XF 1 B 3

Sc

A A

NEe—L N A

(MEEX LML) — 1L 4 L¥dh

—+£ ) £Y0'1+50)
(shdt) —+ ) 21571

(ML <A¢h /)

Y

O} !

zox V! N w—r M8ve-2
y7a
w
o ° 7 NN
n oo 8
o I B
/A - -=-F 4 _ ] o
o 174
3}
% NCHSHP GLO-V
1'6e !
(Fvp)

p——— - 0
oy |® | _ A - <_ , _
1 N P _
-~ w ML — L N0L
T 7 (SH+ 5 X
rhwr PP i = Qehg b & MRl — 1L 4
1K (MLAACA /) NSroC vl )
(V) aet
L9-2 _
o b o
- | ~
“ _ E3] -
N m __ N &
= e 2 ol P

Tl

s 022+ FIE B = £ 4 QMM

ove+¥y=94%

(Trawwose=3(g) [FF L2444 WNHLC.L-HS

(03

31



.6€°€/98

< N1 0

(.czeiges) | 962

9|qe) palouny

-1.1°0/9C

oLy

Yol 1

,£9/09} + yibua 8A0a)j3 = UIBUAT [[BIOAD

(SST1HO 18" HWWOOE :HLONIT IALLOI43) SNOISNIWIA JAISLNO WHILZL-HS

i A
ﬁ = ol
olo o
Oold Mar
- = A9}
11@]13 [l gev
: SOOILT, 11182 sz
o N (]
Q19 |9 —._ N me
W N IN @. Ve - - )
A i \ e ==\
Q%% ot Yy 7 )
(1.,#0°0/0'} *+1.20°0/5°0) = _D_ m.n 2 46'6/051 8|qeQ 1010NpUoY-0 )
: T 1 B ;
(‘pis1.,90°0/5°1) Joun : \ I ~5G12/000L 3 _
.B00'0F ,5¥6°0 ! ,Lﬂ duwe peoH G1-vH Isjusa Jeplis rvm.QEEwm__.u_m._,mm_“_Muou__ b2 €/G6)
o2 |90 _l.oo]_ . L .
zor .&N = SR (o7T1 BM0G) BIp B1 S 702 /;:8 g0 Icg  AGSIOb
- > ALSHOY | gl
20" (ajoH Bununopy) > _ E
i o9z BIP,82'0/20-2 N-64'0/02
o 1
=] wep yibua enosy3 2 T,. D =
- N (a10y jamoq) : - R
Mo 38 )% Sl o P61 08 P02 &G oy
Qo T R f \
N e e 3 @@H_ & Do-ed M B Tyl . |5
g R m R sl» ] = [s
2 |\ {- b 9 1S - P
== . ol /X oL@l s I
olo ‘ \\—
.%g > Jew julod 019 ¥ ;
* 2L dasq ,v°0/01 Bupoey Larom|! xx : 4 L9110
S8 l0ds "eIp .Gp'0/G 'L 10 = wbua aday3 - .5672/SL .
00 "8Ip £0/5 L0b
swree 1 ¢ 205+ #46°5/ 55, OV + yibue eAnoa)y3 = youd ejoy Bununow " .6E0/0}

32



.6E°E/98 91'l a|qe) palowly

< <

"~ (.2zeses) | 962

33

L0

LS L0y

_llj.jl
L HT
Bununow sje|d 100} J8judD
.50¢e/es |
— S EBSey
wnjeg ya Z2 yl % !
I — =
[\V] e
“ by $
S
=
SO0/ L1182
‘ajow 10,5 1E/wwoog s! ybus| e = e = z
810843 ) lujod 0182 18ju8d B 10} 8jqejunow (ejoy Buhunow pajebuo|g [N M w @t - Aw - - -
.GE0 X "BIP ,82°0/6 X L0) 8leid 100} 18ju8D o |9 @ = E ot —
(1L.#0°0/0°4 +1.20°0/5°0) B T os1 aiqu) J0PNPUOY -0}
('PIS1.,90°0/5"}) s8u L\ 56720001 B
dwe pesH G}-VH = 1ajuad JapliS (pajunow aje|d j00j 18)uBd UM ¢
o000+ /GV6'0 . BGO/G + 2/} X ;_mcm_ aA1108j)3)
. (e10y jemoq) w1901 ST o -
zor b2 | ]+€9°0 eip G ! (8104 1oM0Q) Bip .§1-0/5 §0-2 " X O :Gm mNOv—
% «61°0/8'v0C #20'1/92 (810H BUNUNOW) \ﬁmw\m.w | "¢z
BIP ,82°0/L0-2 \.6£°0/02
sew Yibue aanoasyg Eﬁ b 2
sl N ;O %
e 1k %) edrs ,
w 3 /] AN (@ y |
s 4o g AR DeT— %uw T Geed@y H o .
©ORp m sk [ 3 | " m :
3 _ —loo i P
Joospflll - N N DY " ! / PlD) R
7 \s
ol deaq ,v"0/0} paoey —_——
Rl “ RN Jew juiod 08 \gn TE
Q jods eI Spo/g 1ke L9V Olb Hew od olez |ovow
ZAA NN BIPLE'0/5LO-Y b yibua emoe)3 v IR
9
. 2700 0%+ ,99'8/ 5o+ 022 + UiBuaT 8AROBYT = yoid Bjoy Bununopy 6€0/01
FCRUS- L . Y

LYY ,GP'6/0v2 + yibua eAnoa)3 = yibua |leen0

Youywiwi pun  (IHOW HO ,82°€ H/WWOSE *HLONIT 3AILO3443) SNOISNIWIA IAISLNO WHIZZ-HS



— 4 ) WO+ 50)

(F¥)— £} 251

NL—Ld i E

(& &2l

del-QdiSINY (e 4 o A

(ML <A g4 7)
M8ve-g

0004 J

A

[}
)
!

WL — L2530k

wdﬂvmi -
ol
/]
Py
8
(] A [\ a
o SR "o
_u.._.. % % %
SN A- pes
\\ Mn! 4 _ ]
o 171
[¢;]
9¢
(ree) |}
vy

OL4E N 4HSHY SLO-V

V&L exY | (S6TIWUOONEFEY)
NizazrdsreN\pho @ | .. )%
C(MfhE) /mmwv gel
Lo-2 1
PH——P-q 1
. o
= ~
12y - ,
o
C_Jiets o
& / & Pl
N —o¥H Ty
) FEE " 5z
- S OV + F W E = £ & A MM "o

O ERE=FF
(Lrawwooe=¥ 6 E) [KF {24 NHILC L-HS

34



ML=k s

©
N
B — 14 4 C¥dh ._H

N
R
55 S/IXFE H o "
g9y | 8l
[ tss 2 ‘ l% } I }
ey T
o =
»

CELEUSAHMNYEIISHSUDHENHDIMES (1 F
WWOOE & ¢ a3 (% B B 37, Y Wil . T IWWO08H (1% & 3x¢
(MEFOXLOPMEH)N — 1L 4 & C¥rh

/

.. ¢
g (wce-ey  ~ — 3 | [ —
— € ¢ (L—14%7
.. i S e (it Fxuny | ||
. (M4 <A &hr) Qg )y ﬁtéLlAh+>h«%w
N.zvm_ - LT = (M1<A¢h7) usvez
o (M fhm)
(- H G 19-2
mw o
3
8 %
A s | R o ST
it m : ” MM “ | 5
P & 8 I Jvaces _ " N
Akt o 5 L@ e " 3
707, ——
o |7 ‘L \
c Y ¢—o%HE v
5 hGHSHP GLP-V b TEE " 0zt "
“Tee '] ¥ ) $0+ 02+ H WY =£ 4 AN LM of
LR OV +EFEE=TF "

(Trawwose=38) EIFL2EJ44NHILCL-HS

35



(1.,¥0°0/0°4 +1.20°0/5°0)

('Pis1.,90°0/5°1) 18un

80007 ,GP6°0
20 b2 ~€9°0
9l
zd
B ) - ~N
e x|o o D
- /] 14 13
Q& I - A~ s
I+ - I SN 0
W@ ai» u ) “
& R Bl
7 e S R
707 =
ol 17
oo
%
2VE
9
N H00
#VG HI6E '

(FIRVE2 8

youyww :jun

8|qe) pajouny

o
Qlo
Y]
a (W
g
o|o
als
[+)]
3
L6} SO0 1 8e
g = o
o =0 o SR
o — 1 £
(6nid 1010npuo)-g}) mm =) 5G/05)
(0501IH) dgt-OdLS+Nd | vo0s W .
: "gge ™ ~9°G22I000Z A
" (,¥6°€/wwWQO4 jo Yibua

(ejoy jomoq)
"elp ,61°0/8°v0-2

492°2/10L

191U 19plIS

8|qeD J0joNpuod-0|

, 8AI109))] UB 104 b/ '§/56)

daaq ,¥'0/0} padey
10dg "elp ,S¥'0/5° 110
BIp.E0/5 L0 Y

Y

. ‘_1 .
(a0 lamoQ) ‘eip ,84°0/5°v0-2 ~9E'e/09 50, " _\m siovt
LS /Ob 2l
(ejoH Bununopy) — H
‘BIP ,82'0/L0-2 n» 6L 0/0¢
B oz N |
spew yibusj enoeyj3 als G RO B IRy, 5
o1 O
@lg N“ Y}
4@@ @lo-o0{@I NM I 2 5
n =
D bl
nN
srew jutod 0187 ~orom
~ yibua anday3 " ,56°2/GL "
= 205+ #4G°G/ 53 OV + UiBueT aAnaay3 = youd ejoy Bununop ~6E°0/0}

.£'9/091 + uibuat ena)3 = yibua l1an0

(SS371HO ., 18"+ Hwwoe :HLONIT IAIL03443) SNOISNINIA JAISLNO NHLZZ-HS

36



8|qe) palouy

o
©lo
a s ’
Buunow ayed 100} 18U » o
3
< » Q
- . Bue jesen [ > O
5070725 HBueT IeIeno A ¥
R R - V-2 ot
wnjeqg- ., «
eg - I\I e ¥ I }
-4 N
& -
D 3 ]
4 _ i
R =a ol *
ols
« #L9°L
400 | JdF% o
*@J0W 10 ,,G' | g/wwQ0g st yibua) aayoeye AN} ' V82 JIV_
11 ujod 0182 181UBD € 10} B|qRIUNO o 0s —
(ejoy Bununow pajebuojq M Q N Q ~Sw gl o »
JSE°0 X "BIP ,82°0/6 X L0) 8leid 100} ejue) a8 345 il 3 m@% Eid A\
Y 8 = 43 s Yy lw=¢
. L (6nyd 1010npuoy-zi) 295 % !
(1.,b0°0/0°} +1..200/5°0) | .00t B +6'6/051 8|geD J0NPU0Y-0}
¢ — (esoiH) dgi-Gd1SIWd e :
PiS1,90°0/5'}) 18un §Ge .9'GZ2/0007 )
«9L°2/0L - (pajunow aje|d 100} J81UBD YIM| |
w00z /560 (ajoy jemoq) 101Bo2oPS (BS0/G1 + 2/1 x uibuay anod)j3)
d . T i 0 >
wbe |90 i sromvez (e10H 1omoq) "eip \b_.o\m.vem/ B9 g IS0V
9l P— R
(ejoH Bununop) le|:m_v gel
siew yibue aaosy3 'Blp ,82'0/L9-¢
I oTs [ o
ola Y ¢
2] Q Wy m o
N 8 =1 ® _ i DD T
mm b ) A - % N % .m.w. mm i 1
gl o e ® ,a@ % " " S
o 3B 2o [ P ! \ K =
R 3 RNVA RBlE S N J[_Jwerks A ' ! S
02 e & < k i N A | ! 3
N7 —
o A dsaq ,¥'0/01 Bujoey ]\
oo " ! > ——
K lodg ‘BIp ,S1°0/5°410 9V Ol Hewuiod 0107 9V o
xwmm_ ‘Blp ,£0/5°L0-p y16ua aAnoay3 b W2LVI02} g
My <200 20+ 4GS/ 5. OV} + UIBUBT eA0BYT = youd ejoy Bununow M M
e .S¥'6/0ve + Y1bua 8nme)i3 = Yibua |lesen0 )
oUWl JHu ' . -
yauy/ N (3HOW HO .82 € H/WWOSE :H1DONIT IAILOT443) SNOISN3INIA 3AaISLNO NH1L2.-HS

37



Tt

L &R 100mm~1100mm (50mmE L) {E L, 950mmiEkR <
1200mm ~1800mm (100mm &)
oL R F2&+160 (mm) (F#&KR300mMmULT NHE)
E&E+240 (mm) (FHHRIS0MmMELENHE)
S KT EE Hh&E+28 (mm) (EBI9mm, HENIMmM/BEHEI00mMmMLLT)
E#E+100 (mm) (ZBI50mm, FHES0mm/H%h&E350mmELE)
QR —ILBE (20°Ci=T)
[3+3535L («m) P-P {BL, L:Hz&Emm]
O S5ERMFFEITE 01mm
®EERE (11£1) x107°/°C
SERBEHEE  —5~+40C
O REEEHRE —10~ +50°C
QEXFE = 14 AR
Q=SB BEWERNEEM s FRICH L. ImmEMTEE
(BERHEAEEIR, TF791243)
OEEREE 4um P-PLLA
FE&
. REBAIRIL b M6 X35 4K
Vi M6 X12 3K
/ M4§<16 2K (ZOAr—VIZIMEBLEEA)
2. hxT @®P M3X25 2K (ZOAT—IVIZIZEBLEEA,)
Vi @B M4 X12 57
3. /woEr ®5X45 3A& (IXFFr—C EH)
/ @5 %10 2K
4. 5S4+ — 0.1,0.5,0.6,0.8,1.0,1.2,1.4 7
5. A7V T v v MER 24
6. FIoviw M6F 24
/” M4 5 34

APy b —TIVERTHE 34
~y =7 VETHE 159 (2025 —LIZIHEBLEEA.)

7. D (K)
8. i ()

38



SPECIFICATIONS

Effective length: 100mm to 1100mm (3.94” to 43.317)
1200mm to 1800mm (47.24" to 70.87")

Overall length: 300mm or shorter
Effective lingth + 160mm (6.30")
350mm or longer
Effective length + 240mm (9.45")

Max. slide length: 300mm or shorter
Effective length + 28mm
9mm (0.35”) at the left, 19mm (0.75") at the right
350mm or longer
Effective length + 100mm
50mm (1.97”) at the left, 50mm (1.97”) at the right.

Position of zero point:  Any point on the effective length: the position can be selected in 1mmincrement.
(The detector connected determines the zero point detection direction (either
uni- or bi-directional).

Accuracy: (at 20°C/68°F)

[3+(3/1000) L) um P-P  (L: Effective measuring length in mm)
(0.00012 + 0.000003 x L) inch P-P  (L: Effective measuring length in inch)

Tolerance in mounting parallelism: 0.1mm (0.004”)

Thermal expansion coefficient: (11+1) x 10%/°C

Operating temperature: -5 to +40°C/23 to 104°F

Storage temperature: =10 to +50°C/14 to 122°F

Absolute zero point: One point built in the scale

Zero point position: Set within £1mm of a customer specified position

Zero point accuracy: 4um P-P

ACCESSORIES

M6 x 35 Hexagon socket Nead CaP SCIEW ....c.eeiie ittt a e e e 4
M6 x 12 Hexagon socket Nead Cap SCTEW ........cccciiiecii ittt 3
M4 x 16 Hexagon socket head Cap SCreW ...t 2 (Not used)
M3 x 25 + P Phillips head small SCrews .........cc.ooiiiiiiic e 2 (Not used)
M4 x 12 + B Phillips head small SCreWs ......coci et 5
25 x 45 Knock pins (1 fOr GaUGE PIN) ceeeeieieiieeie e e e eenneees 3
B5 X 10 KNOCK PINS ittt ettt ettt e e et e e e et e e e e e e eetes e e e s e eenseeeaiaans 2
Liners:t=0.1;0.5;0.8; 0.8; 1.0; 1.2, 1.4 o it 7
Spring Washers fOr MB SCTEWS ..ottt eee e eeeee e 2
Flat washers for MB SCrEWS ..ottt 2
Flat washers for M4 SCreWS ... ..o ettt a e eeeane e 3
Cable holders (big) for armored Cable .......cccvriveiiiiiiieeee e 3
Cable holder (small) for armored Cable ..o 1 (Not used)



MASHTITRAT—I

T 108-6018 HREEAXAEFE2TH 15% 15 K1 > 42— 7 1 AR18RE

Magnescale Co., Ltd.

Shinagawa Intercity Tower A-18F, 2-15-1, Konan, Minato-ku, Tokyo 108-6018, Japan

SR-721RD/RM /RN 2010.4

2-995-607-07 Printed in Japan
ZOV= a7 VIR L COET, ©1998 Magnescale Co., Ltd.



	表紙
	日本語
	目次
	ご使用になる前に
	特長
	各部の名称
	･ SR-721RD型スケール
	･ SR-721RM型スケール
	･ SR-721RN型スケール

	使用方法
	1 取付場所
	2 取付の向き
	3 動作範囲の設定
	4 ケーブル，コネクタの保護
	5 取付準備
	6 取付
	7 電気信号（PM信号）の確認
	8 スケールを取外しする場合
	9 デテクタとの接続，切離し

	内蔵原点について
	1. 原点位置識別呼称の構成
	2. 原点検出方式

	ケーブル部について
	外形寸法図
	･ SR-721RD [有効長300mm以下]
	･ SR-721RD [有効長350mm以上]
	･ SR-721RM [有効長300mm以下]
	･ SR-721RM [有効長350mm以上]
	･ SR-721RN [有効長300mm以下]
	･ SR-721RN [有効長350mm以上]

	仕様
	付属品

	English
	CONTENTS
	NOTES TO USERS
	FEATURE
	NAMES OF PARTS
	･ SR-721RD
	･ SR-721RM
	･ SR-721RN

	MOUNTING
	1) Mounting Position
	2) Mounting Direction
	3) Setting of Scale Travel
	4) Protection of Cable and Connector
	5) Mounting Preparation
	6) Mounting
	7) Checking the Electric Signal (PM signal)
	8) Removing the Scale
	9) Connection and Disconnection with Detector 

	BUILT-IN ABSOLUTE ZERO POINT
	1. Nomenclature
	2. Absolute zero Point Detection

	CABLING
	OUTSIDE DIMENSIONS
	･ SR-721RD (EFFECTIVE LENGTH: 300 mm OR LESS) 
	･ SR-721RD (EFFECTIVE LENGTH: 350 mm OR MORE)
	･ SR-721RM (EFFECTIVE LENGTH: 300 mm OR LESS)
	･ SR-721RM (EFFECTIVE LENGTH: 350 mm OR MORE)
	･ SR-721RN (EFFECTIVE LENGTH: 300 mm OR LESS)
	･ SR-721RN (EFFECTIVE LENGTH: 350 mm OR MORE)

	SPECIFICATIONS
	ACCESSORIES

	裏表紙

